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+4.90 +6.70 +4.75 +6.70
m
= 23.05| 23.05
ALY T b A= 0.188 m W= 0.150 m
(0.188%2 X /4 — 0.150% X /4 ) X  23.05
m3
= 0.233 0.23
B EAR R L Az O ZEE (B EH) ¢ 150mm L =4000mm
m
= 23.05| 23.05
VN
23. 05 = 4. 000 = 5. 76 6.0
~ 3m ATl = = @
3~ bmA TR 2189 2190 = 2.0l 2.0 fEpr
5~12mATis 2193 2194 = 2.0l 2.0 fEHpr
E)L X VAE ¢ 150mm
2189 2193 2190 2194
+1.00 +1.00 +1.00 +1.00
% AT
= 4.0 4.0
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2193 2194 A
+1. 00 +1.00 2.0

Wi - e (7
T $ 150mm

2189 2193 2190 2194
+1.00 +1.00 +1.00 +1.00

& A
= 4.0 4.0
ZTAahT— ¢ 150mm
2193 2194
+1.00 +1.00
& A
= 2.0 2.0
250X ¢ 150
3 $ 150mm
2187
+1. 00
& A
= 1.0 1.0
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+T 2189  (HiHE)
P T B8 R P R ARG JEE= 2.40 m
SV TR (0.63+ 3.90) = 2 = 2.30
SEREIRE 1 2.304+ 0.019+0.100= 2.42
H -0. 040
1.200 X2.38 X2.40 = 6. 854
Peps BERRE AME=  0.188 m
0.188 2 X 7./4 X  2.40 = A0. 067
/NG = 6. 787
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SEYE R TR (0.74+ 3.90) + 2 = 2.30
SEHREIE T 2.304+ 0.019+0.100= 2.42
H -0. 040
1.200 X2.38 X5.55 = 15. 851
Peps BERRE AME=  0.188 m
0.188 ? X 7,4 X 555 = A0. 154
/NG = 15. 697
2190  (ThE)
L2358 I EREY JEFE=  2.65 m
SV TR (0.79+ 3.90) + 2 = 2.30
SRR T 2.304+ 0.019+0.100= 2.42
H -0. 040
1.200 X2.38 X2.65 = 7. 568
Peps BERRE AME=  0.188 m
0.188 > X x4 X 2.65 = A0. 074
/IR = 7.494
2194 (&)
L2358 ERE JEFE= 5.95 m
SV TR (0.794+ 3.90) = 2 = 2.30
SEREIRE T 2.304+ 0.019+0.100= 2.42
H -0. 040
1.200 X2.38 X5.95 = 16. 993
Peps BERRE AME=  0.188 m
0.188 ? X 7,/4 X 595 = A0. 165
/NG = 16. 828
m3
PEH] T MET = 46.806| 46. 81
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+T 2189  (TiHE)
HMELL B8 R P 2R ARG SEE=  2.40 m
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MR LS H’ — (0. 37740. 190) = 1.85

1.200 X1.85 X2.40 = 5.328
m3
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LA T = 2.42
MR LS H’ — (0. 37740. 190) = 1.85
1.200 X1.85 X5.55 = 12.321
m3
/NG = 12.321| 12.32
2190 (&)
28 S P R ARG JEE=  2.65 m
SEJHREIG T = 2.42
SR LS H’ — (0. 3774+0. 190) = 1.85
1.200 X1.85 X2.65 = 5. 883
m3
/NG = 7.733 7.73
2194 (Tha&)
28 R P R ARG JEE= 5.95 m
SEJHREIRE H = 2.42
R LS H’ — (0. 3774+0. 190) = 1.85
1.200 X1.85 X5.95 = 13. 209
m3
/NG = 15. 059 15.06
m3
WREL L N = 40. 44| 40. 44
+ T m3
Ay T 46, 81 — 40.44  +0.9 = 1.88 1.88
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m
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m
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o BER B ) AR
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X 9. 00 = 3. 879
m3
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2189 2193 2190 2194 m
+1.50 +4.75 +1.70 +5.20 = 13.150] 13.15
+8T
0% B Ay B SR T SR T2 2. 30<"FHHRHIE=2. 80
2189 2193 2190 2194 m
+1.50 +4.75 +1.70 +5.20 = 13.150] 13.15
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BAEE U T | A T T AT 7L hEE t <15cm
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1.70 X 2.0 + .20 4. 60
BUAHE 2194
Vi
5. 20 X 2.0 + .20 11. 60
m
/NG 26.90[ 26.90
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(ff8h) (A AT
i ! =) iy /N B by =
SREEEUE U T | B 2189
t=4cm  TEEED A AENE 1.20
(&) . 20 X 1.50 = 1. 80
A& 2193
t=4cm  TBEED aEENE= 1.20
(&) .20 X 4.75 = 5. 70
A& 2190
t=dcm  HERHED HideiE= 1.20
(&) .20 X 1.70 = 2.04
BUHE 2194
t=dcm TR WEiE= 1,20
(&) .20 X 5. 20 = 6. 24
nm
/NE = 15.78| 15.78
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oAl g R A E R
SELEIUE L T |7 27 7L bR

15.78 X0.04 = 0.631
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m3
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BAE T B
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B
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(B WEER A 151 FT)
A ill = z\ A A= 2y ==X
BAHERETLT |M% ¢ 150mm
2147 2148 2168 2187 2191 2188
6.60 +6.80 +4.55 +5.50 +7.17 +5.35
2192
+5. 88
m
= 41.85| 41.85
RS S E= 0.188 m NEE=  0.150 m
FRALAY T (0.188% X x4 — 0.150% X /4 ) X 41. 85
m3
= 0.422|  0.42
B EAfR L I Az 0 ZEE (B ERH) ¢ 150mm L =4000mm
m
= 41.85| 41.85
N
41. 85 - 4. 000 = 10. 46 11.0
~ 3mA il = | = &
3~ 5mA i 2168 = .ol 1.0 f&5pr
5~ 12mAs 2147 2148 2187
2191 2188 2192 = 6.0 6.0 T
)L X IVARIE ¢ 150mm
2147 2148 2168 2187 2191 2188
.00 +1.00 +1.00 +1.00 +1.00 +1.00
2192
+1.00
&P
= 7.0 7.0
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A EmHRE L HEitAEE

(B SRR A A 151 7).
A ill = z\ A A= 22 B
H 1E i & $ 150mm 30°
2147 2148 2191
.00  +1.00 +1. 00
2192 I
+1.00 4.0
Vet « e a7
k= $ 150mm
2147 2148 2168 2187 2191 2188
.00 +1.00 +1.00 +1.00 +1.00 -+1.00
2192
+1.00
% AT
= 7.0 7.0
ZTA AT — $ 150mm
2147 2148 2191
.00  +1.00 +1.00
2192
+1.00
& AT
= 4.0 4.0
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DR L BEHAEH

() EER A 4 )
Fil il B = - N F w iy
+T 2147 (i)
PEHI T 08 R ARG $EE= 5.656 m
SRR R (0.87+ 3.90) =+ 2 = 2.40
SEPREGE H 2.40+ 0.01940.100= 2.52
H -0. 040
1.200 X2.48 X5.65 = 16.814
bAdies BERR S AME= 0.188 m
0.188 2 X /4 X 5. 65 = A0. 157
/NEE = 16. 657
+T 2148  (fiif)
PEHI T 08 E B ARG SEE= 5.60 m
SRR R (1.06+ 3.90) = 2 = 2.50
SEPRETGE H 2.50+ 0.0194+0.100= 2.62
H -0. 040
1.200 X2.58 X5.60 = 17.338
PEfR BERRE  AME= 0.188 m
0.188 * X /4 X 5. 60 = A0. 155
/NEE = 17.183
+T 2168  (ffiif)
PEHI T 08 R ARG SEE= 2.55 m
SRR R (0.95+ 3.90) =+ 2 = 2.40
SEPREGE H 2.40+ 0.0194+0.100= 2.52
H -0. 040
1.200 X2.48 X2.55 = 7. 589
PEfR BERRE  AME= 0.188 m
0.188 2 X x4 X 2.55 = A0.071
/NEE = 7.518
+T 2187  (Tii#E)
PEHI T 08 R ARG SEE= 2.7 m
NS SLEJERUS (0.81+ 3.90) =+ 2 = 2.40
SERPRETGE H 2.40+ 0.01940.100= 2.52
H -0. 040
1.200 X2.48 X2.75 = 8. 184
bdies BERRE  AME= 0.188 m
0.188 2 X x4 X 2.75 = A0.076
/NEE = 8. 108
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+T 2191  (i#)
PEEI T L2 I ERE JEE= 5.50 m
SV TR (0.82+ 3.90) = 2 = 2.40
SEHREIRE T 2.404+ 0.019+0.100= 2.52
H -0. 040
1.200 X2.48 X5.50 = 16. 368
Peps BERRE  AME= 0.188 m
0.188 2 X x4 X 5. 50 = AO. 153
/NEE = 16. 215
2188 (i)
L2356 I ER L JEE= 2.40 m
SV TR (0.81+ 3.90) = 2 = 2.40
SEHREIE T 2.404+ 0.019+0.100= 2.52
H -0. 040
1.200 X2.48 X2.40 = 7. 142
PERR BERE SME= 0.188 m
0.188 * X x4 X 2. 40 = A0. 067
/e = 7.075
2192 (T:8)
LS I ERE JEE= 5.45 m
SV TR (0.77+ 3.90) = 2 = 2.30
SEREIGE T 2.304+ 0.019+0.100=  2.42
H -0. 040
1.200 X2.38 X5.45 = 15. 565
Peps BERRE  AME=  0.188 m
0.188 2 X x4 X 5. 45 = AO. 151
JNE = 15. 414
m3
P H T Et = 88.170| 88.17
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+T 2147  (ffiHE)
HMELT 28 R P 2R ARG JEE= 5.656 m
SERPREGE = 2.52
MR LS H’ — (0. 37740. 190) = 1.95
1.200 X1.95 X5.65 13. 221
m3
/IR 13.221| 13.22
2148 (&)
B8 S P R ARG SEE= 5.60 m
SERPREGE = 2.62
MR LS H’ — (0. 37740. 190) = 2.05
1.200 X2.05 X5.60 13. 776
m3
/INEE 15.726| 15.73
2168 (&)
28 R P R ARG JEE= 2.55 m
SERPREGE = 2.52
VMR LS H’ — (0. 37740. 190) = 1.95
1.200  X1.95 X2.55 5. 967
m3
/INEE 8.017 8. 02
2187 (&)
28 S P R ARG SEE= 2.75 m
SERPREGE H = 2.52
VMR LS H’ — (0. 37740. 190) =1.95
1.200  X1.95 X2.75 6. 435
m3
/INEE 8. 385 8. 39
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i a1l H = N Py 5
+T 2191  (ffiE)
HMELT 28 P R ARG JEE= 5.50 m
SEHREIRE T = 2.52
MR LS H’ — (0. 37740. 190) = 1.95
1.200  X1.95 X5.50 12. 870
m3
/INEE 12.870] 12.87
2188 (&)
B8 R P 2R ARG SEE= 2.40 m
SERPREGE = 2.52
MR LS H’ — (0. 37740. 190) = 1.95
1.200  X1.95 X2.40 5.616
m3
/INEE 7. 566 7.57
2192 (fi#E)
28 P R ARG SEE= 5.45 m
SERPREGE = 2.42
MR LS H’ — (0. 37740. 190) = 1.85
1.200 X1.85 X5.45 12. 099
m3
/INEE 14.049| 14.05
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m3
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vax =/u > NN = RSN =
y B EmesE 2 L HEetEE
(EH) WERR AN 141 FT)
Fil il T = - N F by =
+T
LT o W B ARG
Hh LA 2147 2148 2168 2187 2191 2188
5.65  +5.60 +2.55 +2.75 +5.50 -+2.40
2192
+4.70
m
= 25.000| 25.00
o W2 I AR ‘
(1. 200 X 0.377 —0.165 X 7t X1/4 )
X 25. 00 = 10. 775
m3
i = 10. 775]  10.78
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IfEmRE A L BEHEE

(L) WE RS AN 151 FT)
Fil il L = - /N EF w =
T T
08 R AR B R AE L =3. 0m 2. 30 < FHJHEHIE=2. 80
2147 2148 2168 2187 2191 2188
4.90 +4.85 +1.65 +1.85 +4.70 +1.45
2192 m
+4.70 = 24.100] 24.10
+H T
0% B B AR T SR T2 2. 30<"EHJRHITE=2. 80
2147 2148 2168 2187 2191 2188 m
4.90 +4.85 +1.65 +1.85 +4.70 +1.45
2192 m
+4.70 = 24.100] 24.10
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IfEmRE A L HEHEE

(HM) WERRAE 5 T
i Rl v IV N =
EAE I U L | SE T T T AT 7L MiSE t =15cm
8 2147
4. 90 X 2.0 + 1.20 = 11.00
HfHE 2148
4. 85 X 2.0 + 1.20 = 10. 90
HfHE 2168
1.65 X 2.0 + 1.20 = 4. 50
HfsHE 2187
1.85 X 2.0 + 1.22 = 4.92
HfH 8 2191
4. 70 X 2.0 + 1.28 = 10. 68
HefsH& 2188
1. 45 X 2.0 + 1.24 = 4. 14
HfT 8 2192
4. 70 X 2.0 + = 9. 40
m
/NEE = 55.54| 55.54
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AT EMRE AL BEsHEE

(EH) WERR AN 141 FT)
i hilll T 2V Y N by =
SEAEES I | T |EEEREIRGA T 7 A 7 7L R t <15cm
e 2147
t=4ecm g% HtElE = 1,20
(HH8) . 20 X 4.90 = 5.88
HfHE 2148
t=4ecm g% HtElE = 1,20
(HHE) . 20 X 4. 85 = 5.82
HUfHE 2168
t=4ecm g% HElE = 1,20
(HH8) . 20 X 1.65 = 1.98
A& 2187
t=4ecm g% HtElE = 1,20
(HHE) . 20 X 1.85 = 2.922
EufHE 2191
t=4em = g% HElE = 1,20
(HHE) . 20 X 4.70 = 5.64
HufHE 2188
t=4ecm 4% HElE = 1,20
(HHE) . 20 X 1.45 = 1.74
BUfHE 2192
t=4ecm g% HtElE = 1,20
(HHE) . 20 X 4.70 = 5.64
m
/NG = 28.92| 28.92
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\ WA E AT 2 T BBt A
= SRR A A& 151 FIT)
Mo ] % 5 v
SHEEREE L T [7 2 7 7 L Rl
28.92 X0.04 e
/Nt 1. 157
m3
1.157| 1.16
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IfEmRE A L HEHEE

(HIH) PEER AN (5 FT)
i a1l H = N by 5
FHEC HufHE
A8 1H T FET FAEBREY 2oy t=3cm
m?2
28.92 = 28.92| 28.92
Bt
BME T RC-40 t=16cm (AR[EEEEIET)
m?2
= 28.92| 28.92
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VR /VERVE L HEEHFR

(B )
I & B B E2V P | HAL|
+T M10012 M10013 M10014 M10015
0.46 m+ 046 w+ 0.46 m+ 046 nf
£ E1]
1.84 | uf
M10012 M10013 M10014 M10015
o+ W 4 0.46 m+ 0.46 wi+ 0.46 m+ 0.46 oi
1.84 | uf
BET M10012 M10013 M10014 M10015
& 2E R U)W ASHR 6.40 m+ 6.40 mt+ 6.40 m+ 6.40 m
25.6 | m
M10012 M10013 M10014 M10015
& 25 IR He BE AShR 1.78 ni+ 1.78 ni+ 1.78 ni+ 1.78 ni
t=15cmlL |
7.12 | of
M10012 M10013 M10014 M10015
AsHRTE - LB ASHk 0.07 wi+ 007 uf+ 0.07 wi+ 0.07 uof
0.28 | nf
O A 0.02 | ni
BT M10012 M10013 M10014 M10015
# T. | RC-40 t=16cm 1.92 nof+ 1.92 nf+ 192 uwi+ 1.92 nof
7.68 | nf
M10012 M10013 M10014 M10015
e B OE T | BRR MMl 1.92 nf+ 192 nf+ 1.92 ni+ 1.92 nf
7.68 | nf
M10012 M10013 M10014 M10015
T AR T 2 (13) 1.92 nmi+  1.92 m+ 1.92 nmi+ 1.92 nof
#* = T t=3cm
7.68 | nf
VN AT 157K
L 15K 4 4 | fEpr
FHHLY 7' t=100mm
L 15K 4 4 | fEpr
27T (T 157K 320.0 320 | kg
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VAR VEIUR T R E

1 (& FT 24720
£d P B 1% BT # = 1 L3
SHAShR DT T AT 7Lk m 6.40 1.6%4
R U T AT 7V it 1.78 (1.6°2-(1.0%3.14/4))

AszR e - JLPR T A7 7)vh m 0.07 1.78%0.04
1 511 + W i 0.46 1.78%0.26
%+ gy = w m 0.46
AT RC—40 t=16cm ot 1.92 (1.672—-(0.82%3.14/4))
FAEBRET A= (13)
BT t=3cm i 1.92
AR E m 1.92
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VR VERR T HERITRE

124729
4 PR jsi) & =X va g 5 i C:d
~UIR—IVERET | v — LV ERET | ET 4.0
20597 (§ET) kg 320.0 80.0 * 4
ek EBET | vk EmBmET | 40

HAK VT & P —
1HK V7 t=50mm| AT —i

EK UL ZA t=100m| T 4.05

15K V7 AT =150 (ET i

K Vo s | (T —
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20'0 [N
g 700 = 200 X w po 0 X W 096y WGT=1 &Y FEME N LL L
SRS Sk I
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